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2.2.1
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[ ( )]
int acf(short *buf_in, doubl e *box) //buf in- box —
{
int Lk //L 1
doubl e n¥0; int T=0;
for (L=0; L<TAU L++) // TAU=440
{
for (k=0; k<N k++) // N=4400
{
box[ L] += (((doubl e)buf _i n[ k] *(doubl €) buf _i n[ k+L]))/ (SHRT_MX 2) ;
}
box[ L] =box[ L]/ N
i f((box[L]>m & L>70)) {mrbox[L]; T=L;}

}
return T,
}
[ ]
for(interval _acf=0.0;interval _acf<=tine;interval acf+=0. 1)
{
j udge=-1;

for(k=0; k<(int)(wavefni->rate*0. 1) ; k++){
if( fabs(*(buf _in_dH (int)(interval acf*wavefm->rate))+k)) >= EPS LON500 ) {
j udge=1,
br eak;
}
}
i f(judge= 1){
justice_nax_Mi]=1;
mdi _acf[j].|ng_opt++
j +

el se{
justice_nax_T[i]=acf (buf i n+((int)(interval acf*wavefni->rate)), box);
justice_max_Hi]=L 0/((1.0/wavefm->rate)*justice nax_T[i]);
/IMDO
M D _N d=(doubl €) (12*(1 og((j ustice_rmax_Hi]/440.0))/1og(2. 0)) +69);
justice_nax_Mi]=int)(MD_NdH.5);
if(w<0) w=justice nax Mi];
/IMDO
if(wustice nax Mi]){
j +
}
mdi _acf[j].1ng_opt++
w5 usti ce_nax_Mil;
i+
}
int data nunber=j;
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for(i=0;i<data nunber;i++{
if(i=0){
mdi_acf[i]. MO _Merody=justice nax Mi];

}
el se{
mdi _acf[i]. MO _Merody=j ustice_nax_M count _sane] ;

}

count_same+=(int)(nmd _acf[i].lng opt);//

mdi_acf[i].Ing opt=nidi acf[i].lng opt*0.1;//0.1 X

}

}
[FFT ]
void tenpl (int *opt, doubl e *R char *code, const char *code front,int kk)
{
/1
/1 C & D M E F B G & A
At B
int Ctenpl[12] ={1,0,0,0,12,0,0,1, 0,0, 0, 0};//
int DOmtenpl[22] ={0,0,1,0,0,1,0,0,0,12, 0, 01}//
int Bmtenpl[12] ={0,0,0,0,1,0,0,1,0, 0,0, 1%}/
int Ftenpl[12] ={1,0,0,0,0,1,0,0,0, 1,0, 0};//
int Gtenpl[12] ={0,0,1,0,0,0,0,1, 0,0, 0, 1};/1/
int Antenpl[22] ={1,0,0,0,1,0,0,0,0, 12,0, 01}//
int Bdimtenpl[12] ={ 0, 0, 1,0, 0,1, 0, 0,0, 0,0, 1}/

double =0, Lc_1=0, Lc_2=0,
W0, Ldm 1=0, Ldm 2=0,
Ueny0, Lem 1=0, Lem 2=0,
U =0, Lf _1=0, Lf _2=0,
W=0, Lg_1-0, Lg_2-0,
Uan¥0, Lam 1=0, Lam 2=0,
Ubdi n¥0, Lbdi m 1=0, Lbdi m 2=0;
doubl e f_bar=0,t_bar_C=0,t_bar_DwO0,t_bar_BEw0,t_bar_F=0,t_bar_G=0,t_bar_An¥0,t_bar_Bdi n¥0;
int i,j,k
int MAX
int input[12];
for (k=0; k<12; k++) {
input[ K] =opt[K];
}
/1
for(i=0;i<12;i+H){
f_bar+=input[i];
t_bar_ G=Ctenpl[i];
t_bar_Dm=Dmtenpl [i];
t_bar_Em=Emtenpl [i];
t_bar_F=F tenpl[i];
t_bar_ G=Gtenpl[i];
t_bar_Am=Amtenpl [i];
t_bar_Bdi m=Bdi mtenpl [i];
}
MAX=12;
f_bar=f_bar/ My
t_bar_C=t_bar_Q MM
t_bar_ Dt _bar _Dnd MAX
t_bar_BEwt _bar B MAX
t _bar_F=t_bar_F MM

29



t_bar_Gt_bar_G MM
t_bar_Art _bar At MAX
t _bar_Bdi n¥t_bar_Bdi ni MAX
/10
i f(f_bar<=0) f_bar=0;
if(t_bar_G=0) t_bar_C=0;
i f(t_bar_Dnx=0) t_bar_Dn¥0;
i f(t_bar_BEw=0) t_bar_Bw0;
i f(t_bar_F<=0) t_bar_F=0;
if(t_bar_G=0) t_bar_G=;
i f(t_bar_Anx=0) t_bar_A0;
if(t_bar_Bdi ix=0) t_bar_Bdi m;
Iz
for(j=0;j<12;j ++){
//IC
W+=(input[j]-f_bar)*(Ctenpl[j]-t_bar_O;
Lc_1+=pow( (i nput[j]-f_bar ), 2);
Lc 2+=pow((Ctenpl [j]-t_bar_C),2);
//Dm
Wm=(input[j]-f_bar)*(Dmtenpl[j]-t_bar_D);
Ldm 1+=pow( (i nput[j]-f_bar ),2);
Ldm 2+=pow((Dmtenpl [j]-t_bar_Dm), 2);
/1 BEm
Wem=(input[j]-f_bar)*(Emtenpl[j]-t_bar_BE);
Lem 1+=pow((input[j]-f_bar ),2);
Lem 2+=pow((Emtenpl [j]-t_bar_Em),2);
IIF
U+=(input[j]-f_bar)*(F_tenpl[j]-t_bar_PF);
Lf _1+=pow( (i nput[j]-f_bar ), 2);
Lf 2+=pow((F tenpl[j]-t_bar_F),2);
/11G
W+=(i nput [j]-f_bar)*(Gtenpl [j]-t_bar_G;
Lg 1+=pow( (i nput[j]-f_bar ), 2);
Lg 2+=pow((Gtenpl [j]-t_bar_G), 2);
/1 Am
Wamr=(input[j]-f_bar)*(Amtenpl [j]-t_bar_Am);
Lam 1+=pow( (i nput[j]-f_bar ),2);
Lam 2+=pow((Amtenpl [j]-t_bar_Am),2);
//Bdi m
Wbdi m=(input[j]-f_bar)*(Bdimtenpl [j]-t_bar_Bdinm;
Lbdi m 1+=pow((i nput[j]-f_bar ), 2);
Lbdi m 2+=pow((Bdimtenpl [j]-t_bar_Bdim),2);
}
/1l
ROJ =/ ((sart (Lc_1))*(sart(Lc_2)));
R 1] =i ((sort (Ldm 1)) *(sart(Ldm2)));
R 2] =lent((sort(Lem1))*(sart(Lem?2)));
R3[=U/((sart(Lf_1))*(sart(Lf_2)));
R4 =W/ ((sart(Lg_1))*(sart(Lg_2)));
RS =tand ((sort (Lam 1)) *(sart(Lam2)));
H 6] =lbdi mi ((sgrt (Lbdi m1))*(sgrt(Lbdim2)));
/1l
for (k=0; k<7; k++) {
if(Rk]<=1)
R k] =999;
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doubl e nax=R 0] ;
int sel =0, sel _hokan[7];
nenset (sel _hokan, - 1, si zeof (int)*7);
for(j=1j<7;j+H{
if(Rj1=999{

sel =1;
br eak;
}
el se{
i f(Rj]>=nax){
nex=Rj];
}
}
}
j=0;
if(sel!=1){
for(i=0;i<7;i+H){
if (R [=nax){
sel _hokan[j]4;
j +
}
}
}
int wjI;
/1l
if(sel!=1){
if(strenp( code front , "C' )=0)
sel =C hant ei (sel _hokan, wj);
if(strenp( code front , "Dmi )=0)
sel =Dm hant ei (sel _hokan, w ) ;
if(strenp( code front , "BEM )=0)
sel =Bm hant ei (sel _hokan, wj ) ;
if(strenp( code front , "F' )=0)
sel =F hantei (sel _hokan, wj);
if(strenp( code front , "G )=0)
sel =G hant ei (sel _hokan, wj);
if(strenp( code front , "Ami )=0)
sel =Am hant ei (sel _hokan, wj ) ;
if(strenp( code front , "Bdini )=0)
sel =Bdi mhant ei (sel _hokan, wj);
if(strenp( code front , "No" )==0)
sel =C hant ei (sel _hokan, wj);
}
/1l
sw tch(sel){
case 0. strcpy(code, "C'); break;
case 1. strcpy(code, "Dmi); break;
case 2. strcpy(code, "EN); break;
case 3. strcpy(code, "F'); break;
case 4. strcpy(code, "G); break;
case 5. strcpy(code, "AmM); break;
case 6. strcpy(code, "Bdi nt); break;
default : strcpy(code, "No"); break;
}
}
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[ ]

voi d nake db(DATA *data,int total nunber,int ii,int **db_code,int *db _nero,int data nunber,int
**db_I ng)

{

int 1=0,n0,i,j;

char w code[ 5], w code front[5];

Iw™ - BT SN

/1l

strcpy(w.code front,datalii].code[Q]);
for(i=1;i<total _nunber;i++){
strcpy(w code, datalii].code[i]);
if(strenp(w code front, "No")!=0){
if(strenp( wcode front , "C' )==0)

| =0;

if(strenp( wcode front , "Dt )=0)
I =1;

if(strenp( wcode front , "Bt )=0)
I =2;

if(strenp( wcode front , "F' )==0)
[ =3;

if(strenp( wcode front , "G )==0)
| =4;

if(strenp( wcode front , "Ani )=0)
| =5;

if(strenp( wceode front , "Bdinmt )==0)
| =6;

if(strenp( wcode , "C' )=0)
n+0;

if(strenp( wcode , "Dni )=0)
n¥l;

if(strenp( wcode , "B )=0)
n¥2;

if(strenp( wcode , "F' )=0)
n¥3;

if(strenp( wcode , "G )=0)
n¥4;

if(strenp( wcode , "AM )=0)
n¥5;

if(strenp( wcode , "Bdint )=0)
n¥o;

db_code[ I ][ nj++;
MIif
strcpy(w.code front,datalii].code[i]);
Y ifor
int *wdata mdi _Ing,wi;
w data nidi _Ing=(int* )nal | oc(sizeof (int )*data nunber);
i =0;
for(j=0;j<data nunber;j++{
if(datalii].MDO_LNFj]!=0){
wdata nidi _Ing[i]=data]ii].MDO_LNJj];
| ++;

} . .
wi=i;

int ab;
int wMO_Nw_MDO _N
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int wLNGW _LNG

int seni;
/1
wW_LNGw data mdi _Ing[0];
for(j=1;j<data nunber;j++{
w MO _Nedata[ii].MDO _Nj-1];
wMDO _Ndata[ii].MO _Njl;
seni=w MO _NwMD_N
if(wMD_N=1){
seni =25;
}
el se{
if(w_MDO_NS5 | wf_MDO _N>76){
conti nue;
}
if(wMD _N<55 w MO _N-71){
conti nue;
}
i f(seni <0){
seni =abs(seni ) +12;
}
db_ner of seni | ++;
}
}
/1
for(j=1;j<wi;j+H{
w LNGw data mdi _Ing[j];
switch(w _LNJ{
case 1 :a=0; break;
case 3 :a=l, break;
case 2 :a=2; break;
case 5 : a=3; break;
case 4 :a=4, break;
case 9 : a=b; break;
case 8 : a=6; br eak;
case 16: a=7; br eak;
case 32: a=8; br eak;
def aul t : br eak;
}
swi tch(w LN3{
case 1 : b=0; break;
case 3 :b=l; break;
case 2 :b=2; break;
case 5 : b=3; break;
case 4 : b=4; break;
case 9 : b=5; break;
case 8 : b=6; br eak;
case 16: b=7; br eak;
case 32: b=8; br eak;
def aul t : br eak;
}
wW_LNGwdata mdi _Ing[j];
db_I ng[a][b] ++
}
}
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[ ]

voi d outline(char pattern[])

{

char patternl[10]={'A,'B,'A,'B,'S,'A,'C,'S,'S,'¥0'};//
char pattern2[10]={'A,'A,'S,'A,'A,'S,'B,'C,'S,'¥0'};//
char pattern3[10]={'A,'B,'S,'A,'S,'"A,'B,'C,'S,'¥0'};//
/1l
int select;

sel ect =rand() 98+1;

swi tch(sel ect){

case 1:strcpy(pattern, patternl); break;

case 2:strcpy(pattern, pattern2); break;

case 3:strcpy(pattern, pattern3); break;

}
}
[ ]
/1l
/1l

voi d new code(i nt x_hokan, doubl e **bunpu_code, doubl e *bunpu_code0, char **new code, i nt nodul €)

{

doubl e rand_pro;
int y hokan;
inti,y;

for(i=1;i<nodul e;i++){
rand_pr o=(doubl €)rand()/ (doubl €) RAND MRX
for (y=0; y<7; y++){
i f ((rand_pr o<=bunpu_code[ x_hokan] [y] )} | (bunpu_code0[ x_hokan] ==0) ) {
y_hokan=y;
i f (bunpu_codeQ[ y] =0){
y_hokan=rand() %7,

}
swi tch(y){
case 0. strcpy(new code[i],"C"); break;
case 1. strcpy(new code[i],"D); break;
case 2. strcpy(new code[i],"BM); break;
case 3. strcpy(new code[i],"F"); break;
case 4. strcpy(new code[i],"G); break;
case 5. strcpy(new code[i],"A); break;
case 6; strcpy(new code[i],"Bdint); break;
}
x_hokan=y;
br eak;
}
}
}
}
/1l

int newlng(int first_|ng, doubl e **bunpu_| ng, doubl e *bunpu_I ng0, i nt *new | ng, i nt nodul e)

{
doubl e rand_pro;
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int i,y,y hokan;
int x_hokan=first_l| ng;
doubl e haku=0. 0;
new I ng[ O] =first_I ng;
i=1;
vhi | e( haku<( doubl €) ( nodul e*4. 0)){
rand_pro=(doubl €)rand()/ (doubl €) RAND MRX
for (y=0; y<9; y++){
i f ((rand_pr o<=bunpu_| ng[ x_hokan] [y]) |} (bunpu_| ngQ[ x_hokan] =0) ) {
y_hokan=y;
i f (bunpu_l ng0[ y] =0){
y_hokan=rand() 9®;
}
swi t ch(y_hokan) {
case 0: haku+=4; br eak;
case 1. haku+=3; break;
case 2: haku+=2; break;
case 3: haku+=1. 5; br eak;
case 4: haku+=1; break;
case 5: haku+=0. 75; br eak;
case 6: haku+=0. 5; br eak;
case 7: haku+=0. 25; br eak;
case 8: haku+=0. 125; br eak;
}
[lprintf("%4.3lf¥n", haku);
new | ng[i] =y_hokan;
x_hokan=y_hokan;
br eak;

i+

}

return i;

}

/1l
voi d new nero(int first_nero, doubl e *bunpu_nero, int *new nero,int num
{
doubl e rand_pro;
inti,j;
new ner o[ 0] =fi rst_nero;
for(i=1;i<numi+){
rand_pr o=(doubl €)rand()/ (doubl €) RAND MRX
for(j=0;j<=25;] +){
if(newnero[i-1]=1){
new ner o[ i ] =rand() %4.2+60;
br eak;
}
i f(rand_pro<=bunpu_nero[j]){
i f(j<13){
new nerofi]=new nerof[i-1]4;
}
el se{
i f(j =25){
new nerofi]=1;
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br eak;

}
el se{
new nero[i]=new nero[i-1]-j+12;
}
}
/1l
i f (new nerofi]<55){
new nerofi]+=12;
}
i f (new nerofi]>76){
new nerofi]-=12;
}
i f(abs(new nero[i-1]-new nerofi])>10){
cont i nue;
}
/1#
i f (new nero[i]==56, | new nero[i]==58, | new nero[i] =61} | new nero[i] =63, | new nero[ i ]| =66 |
new nerof i ] =68] | new nero[ i ] =70} | new nero[ i ] ==73] | new ner o[ i ] =75){
swi tch(rand() %2){
case 0: new nero[i]-=1; break;
case 1. new nero[i]+=1; break;
}
}
br eak;
}
}
}
}
[ ]
int han;
han=r and() %2;
naeda. set_code( GITE F );
i f (han=0) {
naeda. set_note( 0, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 2, new S nero[s_huml]/12 , LNG8, slur );
naeda. set_note( 4, new S nero[s_huml]/12 , LNG8, true);
naeda. set_note( 5, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_code( CIE G);
naeda. set_note( 7, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 4, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 2, new S nero[s_huml]/12 , LNG4 , true);
naeda. set_code( GIE O;
naeda. set_note( 0, new S nero[s_huml]/12 , LNG2d , slur );
}
el se{
naeda. set_note( 4, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 2, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 0, new S nero[s_huml]/12 , LNG4 , slur );
naeda. set_note( 11 , newS nero[s num1]/12-1, LNG4, true);
naeda. set_code( GIE O;
naeda. set_note( 0, new S nero[s_huml1]/12 , LNG1, slur );
}

36



